RefER

ZHEHWREHRERS BHR: ARREN
BT URS B EA: KEBEE
#3B B FERR=
10/03/ 11:00
NEAL [F—2%&[tyn -] X (3.1km) 2% (3.1km) 3X(3.1km) 41X (3.1km) 5X (3. 1km) 6 (3. 1km)
EUYES- e VFEF 7HE 9= 749 NnNgE avy = 2= IH7 )eary IHYS AR
| DYDEEA[T] | ERB(2) |8 EXK(2) miHE SRA3) [ BE(I) )| WKBA(2)|HEE B2 BH(2)
1:04:37 10:14: 5 20:17: 2 30:52¢ | 41:39: | 53:32: | |:04:37: |
10:14: 5 10:03: 2 10:35¢ | 10:47: | I1:53% 3 11:05: |
PaET et TV FAF AT Y AHhI =+7 U7 AVF HIAZI 3 JF3IX a9y
> IFREg[6] [BHE E—(2) |BR #%2) |AR %(2) 8 &) ER K Bk B(1)
1:05:45 10:10} 4 20:32: 4 31:57i 4 42:47: 3 54:30i 2 |:05:45; 2
10:10¢ 4 10:22; 3 I 1:25¢ 5 10:50; 2 I 1:43; 2 I1:15§ 2
HrIHITY F9H7 V= IFHT T8 VY FutA 77%H 2= AYNT Eob A4 agary
L |ZEFE[] B REQ) M BAS) | ER2)  |EE #E(1) [EE ES(]) |8 EA(3)
1:07:18 10:03: 3 20:46: 5 31:31¢ 3 43:12: 4 54:40i 3 [:07:18¢ 3
10:03: 3 10:43: 5 10:45¢ 2 I1:41: 5 [ 1:28% | 12:38; 3
AN ad YN Favay 478 a9% Fh= avk <2VEL LA 754 <Hh roEN A7
. [RMAIS) R REmQ)|Em MH(3) |BE BA2) |WA BHE(1) |FE EMS) |8E BEQ)
1:08:40 9:50; 2 19:49: | 31:10f 2 42:27: 2 54:53: 4 1:08:40; 4
9:50i 2 9:59: | I1:21¢ 4 I1:17: 3 12:26i 5 13:47: 5
iAo ThHYH A9RYT 74 eob +h vavy Y<EL /LR EAYS 7EH NeHT A
5 NE[3] IR BE(2) |BH KHE(2) |fF #K3) LA BR() |RR EHI() [&RAN KF(2)
1:10:34 9:29: | 20:18¢ 3 32:57i 6 44:56: 6 57:06i 6 1:10:34{ 5
9:29: | 10:49: 6 12:39: 6 1 1:59:; 6 12:10:; 4 13:28; 4
FTHHA IVEN FAE A2=Y LA I3 914€4 av< YJaoh NURY ER7I
RIR[4] BAR B} (2) |58 RER) |8 KE(Q2) ML ERA(2) BRER 1EX(2)
10:21¢ 6 21:02: 6 32:02i 5 43:36i 5 56:42: 5
10:21¢ 6 10:41% 4 | 1:00¢ 3 11:34% 4 13:06i 6
F—7 >
N2 FHYF HVY Ao Vo=
IRIB[15] |&UE EhA(1) |[FEE BRE()
I 1:46 24:10
I 1:46 12:24
TYERIA LAHA NILF Ihv< 199 VIV )7 79 IF
FeEaBlle]|[mHF HE(2) (& BX(1) |FEE () |foE V(1)
I 1:48 24:10 37:55 51:10
I 1:48 12:22 |3:45 13:15
EUVE S =t 234 vavy FTHHT FaIRyT FR 94 iKY avgay FAES IFH
WwYnEEBlI9]|[1EE #F#X(2) [HN #FHE(3) |[BE KE(1) [B EXKEA() [ KFE BA()
13:19 26:40 38:38 52:45 1:05:10
13:19 13:21 I 1:58 1 4:07 12:25




